
(ur{b1{u61
(( !unu{urpnLplurlfr201 Tp. rulnhth

1 3-fr pfr{390-1., nPn2rlurtr

<<Zruuuurunuf tr"[>
ntpl urh hurluurpurpntpl urh

urqilh qh\ru{up

9[rput1nu1utu

u{Fhth ,,2018

2018 1?)4Ut{U1,h c}Ln

<Dn{rn[unrpJnrt-mugn

alrutn{[rptuunr' ((
trnrqhnn '04-02-01

$ltttwttuwtlnp[wtt w4plnqp' 11 qhq wQwfu p1 nryb

9nrrftupp /huqup
rlpud/

utrpfubp
4261- [ti Ln uh

30L21460/s
urnhhnurthh purpuplrgtrh
urnhtnurrhh purnul

rnntrtnut htr prupurplr ghh

unhtnruthh
urnhhnurthh pruptnphpht30L2L460/4

301274601L
ruturuhull, lln2u

30L9732011
truniurhh bnurn, A4 d.-rulur30199232/t

301921211t
rfturnhurtr30L92L3017

30\9722

urnhlh r.lhururnurt runh Lurulhn, ilhb30L97100/L
prlpurqurhur\, qnflihPur3 |rh

30197231/L

30L9723?/r

qpuruhLsru\ur: ht, qhnp, t[ruur3uh,

, urnrlurhlr, uulhrnl4q lghrn39263200/L
ilurunu2491.1.40017'

302371-\2/t
hurtlurL urnqlurt hh illr bhlr Lh302314101L

,h uurhrlhur3023746011.

30197622/1,

3A2371.1212

hurdurhru302374L012
hulftuLru uurhnhurzurnh30237460/2



a)6,4-3 ttr tr trtnt

+3512OOlt unl tnnr.thphtrurtrhplr uhhrlhhp qz hurur 74000 4 296.0

400 6000 2400.0
nh qlrh, ntqntlltuP qe htnn

LL967.4 5146.0
0913220016 -l-

qZ h*p 430

q2 thurr 400 0 0.0

7842.0lJJL)LLvwl t II-

4'67-uffitrnulhtr utrtr4[r tr;nrPbn
Cb+uilbUn

'---J-- t ,r

rlurqnn trlntPhP
q2 hruur 420.8 0 0.0

hurur 1s00 40 60.0
krth.t n*h*h 1ruriulhP UU

3 1s3 1100/1 10 20.0
3168s000/3

I' l--1,,,,-rrrarf I uu hurm 2OUU
ql uLl urlrurq

UU rlhup L00 304 30.4

70.0)11nn,l1 qurhqulhh rftuPrr-|uhtP
qruhqult hL PurduhurPuP uu huln 3s000 2

3242L30O11 3 30.0
3242t3O012

,+,,,f UU huru 10000
I gulu9LuJIru ljuu uuurul'

211
Ctrl}ruilhttE -i5iq-arrtrn 

nrL b utu ur ulruthtt tu| t Il! nrpun
Itlqz T-

hrurn 3500 700 2450.0
3432129011. lqlqurrrlgEl+I-'--r-4 r

l'rlJnrPJnlttbp
mhh 6runulntlalnl

CtrqtutIhltE
Uu

,

tnl
ob trtrhlL

'--- ---- I

L. Lt., -^,, !l r' 
' 'f,^, nrt t tft nt I tlh tnt tI npud 12,397,600 1 12397.6

6531 1 1 00/1
UU

1 2848
UU rlpLut) 2,848,300

521110011 qruqh FtuZ[unLd 152,
th+rurihtrP

4213-\nr

5111100/1 [udblnt gPfr Ptu2[unLd
uu rlptird 214,600 214.

-L 214.e
Ctu+udbLn

4214-\t

99600000/2
f .!,,,,1,-h.rrrrnnn rrrtl httrhluhn q?o 4purLI

54,967 1 55.0

uu 4pruil
100,000 1 100.0

6421.131011

L1h\tnpnhul$t t{rnuuP
!.-,-',"-' ^,-' l,l.Ln

UU nnull
240,000 1 240.4

7241,15001L

hunfurgruhgru3|rtr t2hplr hnupfrl-rqlr
Xr.nrrrrnr nlTlr ltlr'hn

q20 nnrud

325,000 1 325.0

ggsooooo/1

plnt2htrhplr \ruururpriruh riuulrh ZZ

ophtru4pmp3 rurlp uruhrhuhrlu b

rlhuiptpnr-rf rlurp2ur\urh ur\tnh

hfrilurh r$ru thuurnrgrlrub
L 1,,, ^',,,-, or-, irlrl;n

Ct, 4nuril
960,000 1 960.0

6421,LL3013o3

ip*tht hhnrulunubhPft
1,"-,,,rnr or-r IrlrLn

qz 4nu1ri
35,000

,l 35.0

6421L130l1

p22urlhb hhnurfunuhhP|
!...-^,,,'-r ^'-, l,l,l-n

UU 4pulf
240,000 1 240.0

79s7Lto0lt

rlrnurnurlfrh urnurPr'iruh

brunrulnlplnr-hhhP

uu nnulil
5,013,433 1 5013.4

642tLtL0l1,

urh4urlfrtr hhnurlunuurl |rtr
!...-,,,'-r ^,-, f ,t,Ln
u urluJrrLIUJrrLuuqI'

!!rygbt!-

6651 1 1 70/1

421S-Utt{tuhn{ruqPu[ub 0utuubn 
,

rlrnfutu4pruilfr2ngLhph frhur lruqrltub I

I 

urqurhn,l urqPur\urL OT:"' Iq:"tlrlrtnj
UU npLut) 387,000 1 387.0

,,ttr f nn rl rrr nburLu I ntli}lnttl,uI,t"*
168.0

7022110011
fnjptrur\hfr urtr2urPd qnllPb 

I

| {urp&urlruyntpltuh \unl f}tqhl'qh

Ib*.,*3.,.p1.,tLt hP

UU rlputd 168,000 I

Cbnurthbn

39831100/1

2450.0

,6968i4

3E/.U



4232-(urlu n

,
757tO0lL

huriur\rupq:ulhL bPurqPurl|rtr

rhurBtptrhp qZ
rlptud 400,000 1 400.0

7226!L60l2
EFruqpurjlti urqruhnt[il urlt

uu uruurnb rftuh burntulntplntlrtrhp UU
rlptut) 40,000 1 40.0

4844L30011,

hur2rlurquihur\urh
hunfur\urpq:ulJ hh bPurqPur3 |rtr
rhurBhptrhp

qz
rlprud 1,500,000 1 1500.0

72261.1.601L

bpurqpru3 |rh urqurhntiriurh
uru ruurunll r.ftuh brunrulntpl nthtrhp UU

npud 200,000 1 200.0

Ctr+ruilbtn
a23a-55rlul,1ur.n{ul'Iutr 6unruJn.rPJnrtrhbn,

zl+v.v

642Lt3L012
ffi[urfiffi ur3 ]rtr r]rnuuft
6urnrulnlplnthhhP uu npud 100,000 1 100.0

9241.110011

phpphplrtr purdurl-rnp4urqpriurh

burnrulntplnthhhP uu
rlnuI

rlpt"ut)

100,000 1 100.0

207j00 1 207.1

798212001L

urlqnfqpur+Ftuquru
uipulur4lrulhpfr rnulurqpdrutr

Eurnurlnrplnr-h
qz

350,000 1 350.0

79821200/3

url L qntlqlur$|rur\urlt
urpuur4pulhplr uruluqPtf urh

btunrulnr-p1nrh UU
npu0

rlptut) 450,000 1 450.0phpphpnr-tf
hurt ururnurnnr-p1 nthhhPfr UU

1207.1
uurltuuuull

4237 -\hp ! ru1 u g nrglu t| uL 6urfuuhn

7911.\200/!
b p 1.1 ru1 u g n Lgltu L1 urL 6u nurl n p1 n Ltrtr bp uu nnrud 1,500,000 1 1500.0

Ctr+udbL0

79991 1 60/1 upfu fr u[urgduL 6urnu1 n Lp1 n tLtrbp qz npLut) 0 1 0.0

7999116012 ur p [u fr Llu g durL 6ur nu1 n Lp1 n ttrtr bp rJu npud 500,000 1 500.0

ton'otoo 
,rr,-otrtt,+h

4523111811
qurqfr pur2|urlurtr odurh4ur\
ur2fuurmrutrphbP

rJu rlprut) 220,000 1 220.4

CtrrlutlbbE
qZSZ-V tBbtr urtr bP lr tr u u PPU {n1pnrrttubnh r ntrpugl'lrh trnnnqnrrl tr quhqurtr ril

s0s3 1200/1

k1h\urpur\urh uurPPhPlr,

uurppurlnpnttlhhPlr
rlhpurhnpnqrftuh - qurhulurhilurh

burnurlnlplnr-trhbP UU

npud 220,000 1 220.0

npuil 266,000 I 266.0

50s3120012

h1h\rnpur\urh uurPPhPfr,

uurppun{npnttftrhPfr
r.lhpurhnpnqrfurh - qurhulurhriurh
)t,,,nrrrrnr ornr lrlrhn UU

qZ
rlpt-ut) 850,000 1 850.0

5O1,LL13OlL

ullurmihphhurtrhPlr
rl hpurtrnpnqrf*t, b*!*l.B,ftEE-

350,000 1 350.0

50111180/1

rurltnntlhphtruhhplr liur gtturtr -
tlfurtrurufru1 b*r*]t]g.tlrhlp-- qz npuu0

168
J.ll. - .,.,f l=ir

EtrrytudhbP x x x x 42500.5

Untuqhnn '04-02-01

Utu tlutr n LrIp' 2. F n r; u b p [r q ru 2m qtutu n tpl utr d[gn g u nn trM p

I

n1A111n.n.l1

1500.0

500.0

220.0



Lu qpl n qt D' 11 uth qt w ll wb P! n ryb

4269-(rumnt trruum tu n

3691.t4713 pnthurhtntBhn q2 Uhrnqnull 3150 L250 3937.5

3369L147 11, pnilrurhtntptn q2 !|r1nqpuil 8200 41,42.6 33969.3

3369Lt47 12 Bnthrutrlntphp qz rhrnn 4150 2921..57 12124.3

Ctrnufbbp 500

+Z+l -U t" r,utrqh rr'u tt rt
9092120011

tltluuulnnthhpfr rlhd ulur]PurFh

burnurlntplnthhhp
qt nput) 34,716,400 1 34716.4

CtrnutlbLn 4

Fhnunlhtrn
tlnuohnn '04-02-01

Lltr {utr n rf p' 3. Q1 n rrlu uL m bu ru ! urb la btr aruL f tr b p [r q ru m {ru u m n rrl

Shtttuttuut4n\[wb wqPlnryD'11 qbqu|wb Hnryb - . -

4266-tl"n
331.4t1.s611 pdz\ ruh urh d.hntrnghtP qZ hrurn 12 1000000 12000.0

336s12s7 llt
urhuruhurpmdmp3 ruh rlh2

tr hnurnrl nn rq urtnr] ruuururhlnrphp qz 4nqul 48.4 s0005s
24202.

244s1L60/1 plnpulqhp qz hhrnqnurt 582 0 0.0

336s1.2s7|t

url,ruruhurpmdntpl urh rih2

L hnrunrl nn ul ururrl uruururhlntphp trU 4nqul 138 0
0.0

336sL2s7 120

urhuruhurpntdntpl ruh dh2

U hnrunr] nrl q unnr] tuuuurhlntphp qz nnqur 13.5 2672
36.1

336s1.2s7121,

urhruuhurpntdntpl ruh dh2

Lhnurnrlnn rq uru{ uluururhlnr-php q2 4nqru 14.8 485
7.2

24457140/305 urluururhruhlry h1 ntPhP q2 hhrnqnuil 582 1000 582.0

336s12s7 lL0

urhuruhurpntdnrpSurh ilh2

h hnunr] nq q ururrluruururLjntPhF q2 4nqur 60 560000
33600.0

336s72s7 l3L6

ruhuruhurpntdntpl urh rlh2

L hnurnr.l nn u1 urur{ ruuururh3ntphp trU rtnqur 138 2279450
314564.1

18811130/1 hurnrlnthhq durpunlnp \n2fr\htp q2 huln 4000 600 2400.0

336s1.251|s

urhruuhrupntdnr-p1 urh rih2

L hnrunrl nl q uln{ ruurnurlilntphp qz nnqur 1,.42 3987600
5662.4

33651257 19

urhuruhurpntdnrpl ruh rlh2

hhnurnr.lnq u1 urur]ruuururbSntphp qz nnqur 27.5 13240
364.1

336st2st 17

urhruuhurpntdntpl uih rlh2

L hnrunr] nq q urtnrluruururtrl ntphp q2 4nqul 24.3 237303
5766.5

336s1-2s7 /8

urhruuhrupntdnrPlurL rlt2
h hntunrl nq u1 ruur{ uruuurh3 ntphp qz 4nqur L2.5 1399s50

17494.4

36sL2s7 /6

urhuruhurpnrdntpl urh tih2

L hnurnrl nq q urtnrluruuurhl n1p!p q2 4nqLu 13.8 1247400
17214.1

3312127O1t urtuurnnnzrftuh hl nr-PhP qz 4nqur 5.5 0 0.0

33651251 12

urhruuhupntdntpl urh rlh2

hhnurntlnr1 q ururr] ruurnurh3nr-ptp o-, nnolu 14.8 0
0.c

nnqur 13.5 0
0.0

336sL2s7 l3
urinuuhurpntdntPl ruh rlh2

tr hntund nn u rutn{ uruunuLl nr-php qz

3312127O1]-s hrr.-nnor lrtlr lrtnr nLn qz 4nqul 63.5 17 1.1

qe nnqur 63.44 18600 1 180.0
3312t2tol3L4 ruluurnpn2rlurh hl ntPhP

3312127013 rutuurnnn2rftuh trl ntPhP qz nnqlu 135 5000 675.0

33L2L270/3L2 urtutnnnn2rlurh trl ntPhP q2 4nqur 5.5 899600 4947.8

244s1.1.4O/2 rutuururhurhfrl t1 nrPhP qz Lhrnqnru! 461" 1000 461.0

244sLt4011. urtuururhurhfrl Ll nrPhP qZ Lhtnqnutl 580 1000 580.0

182113001L BhUhnqhhn
q2 hruu 4000 600 2400.0

3312L27012 urhrnnnn2riruh hl nr-PhP q2 4nqul 63.s 0 0.0

33141.151/321 uhuiilhq uruhqtihP qZ hunn t2 2200000 26400.0

336s1257 /374

urhuruhtupnrdnrpl urtr dh2

! |rprunr] nq q ururlurutnuq nlfrlp- q2 4nqu L3.47 1202550
16198

84747,15



)65L257 l3L7

urhruuhurpntdntpS urtr rlh2

L hnrunrl nn ul urmd uruururtrlntphp qz 4nqur 14.79 718100
10620.7

336sL257 /4
urhuruhurpnr-dnrp3 urh rih2

tr hnurnr] nn ul urtnr] uruururLl ntphp qz nnqlu 88 69800
6142.4

CLnutlbtrn 503499.8
onuqhnE '04-02-01

uhprltrruprnur4pnrplrufu qurpqtugnrrl

$ lt tt tutt u w ln p I wtt ut qp1 n ry 1' 1 1 n1 b q w \ ub p1 n ry b

4241 -lJ tuuu tr q Jr un tu t1 u tr 6 ru nru.; n !ru tb$I-

031113s0/5

npn2ur\fr nlnpuhhpntil
oquurqnpbrlnq pntluhpfr uhprihP qz rnnhhur 180000 40

7200.0

031113s0/6

npn 2ur \|r nlnptnhhpnul
oqururqnnbrl nq pnttuhnh uhptlhP q2 rnnhhur 300000 20

6000.0

03 1 1 13s0/1

npn2ur\fr nlnprnhhpnui
oquurqnnbilnn pntluhnh uhptttP qz rnnhhur 670000 5

3350.0

031113s0/3

npn2ur\fr nlnptnhhpnttf
oquulqnpbil nr1 pnr-luhplr uhpdhP qz urnhhru 1250000 5

6250.0

03tL13s0/2

npn2u\[r nlnpurhtpnr-rl
oqururqnpbrl nq pnr-1 utpfr uhpilhp q2 urnhhur 1050000 5

5250.0

03 1113s0/4

npn2ur\fr nlnpurhhpnril
oquulqnpb{ nr1 pnrl uhp}r uhPrihP q2 urnhhur 1200000 5

6000.0

Ctrnudbbn 34050.0


